NCERT Solutions for Class 11 Hindi “Antra” Chapter 3 Torch
bechnewale

UY-3
Question 1: @GP A T/ AT HUT BT ATH YR BTT & R 7@1?

Answer :

YR §1d 8 fh U IR B UH1RId G BT ¢ | 5TF Y 311 8, o SUBR HFT STl 8 | 37c: YRS 19 17 [Ga
TRIP TTED| Bl HUT P Ufd U AT Tl g | <d i} UBTR B & BT ATl 81 37ck: Tg 19 TGP Pl TS Ut
TYT BB Bl IriHdT U BT g

Question 2: UTT HTA 1< &1 Il @1 Yarerd fo uRfRufaat # o Faf gl 82

Answer :

Ui U1 91 Ue &R @l § o Td TR U 1Y Y190 & 38T 51 T IYHT UVl 9 &0 I 1 38 & | 98 Al bl
PR BT SR feATHR I & YHIRI 1 S & 7T FHdl 81 I WY BT 91 YA Ugall [0 4 USdl ¢ | 5 98 3P
e SITan 8, d 39 uar Iadi | & g8 Y Sue AT i 7, a3 Ut Iret a1 e &1 aret far unl 39 geR
3AME G Uh-gaR o e R e €| U 91y §1 81T € 3R gaRI e/ 99 aran|

Question 3: TgAT &R Hd TR fohd U § U1 3R 95 {5 SR &1 ¥ B+ & g el 991 g1 U1?

Answer :

Ugdl R Hd R WY & =0 H fIgdM o1l 98 Ha IR 937 a1 ) Uaa- € 6T Tl 39 - 9 Ue g 81 g R
et grdt 1 I T1 off o9 B U Q| 3T Y H IYBT WY HIdT DI U B T UT| T8 AN bl ATHT P SfUBR bl
[AEIEEARIEIER I CEIEERG R




Question 4: YoT T3 A HET- IET SUBR 8 I8! UHT 8 1’ ST T aTeqd 82

Answer :

29 Ufda &1 SIfUT § o SiUdR SR USRI Ue g & 3l Ugq g | SIUBR & i B! THIE B & foIT TFeh1=T 6l
BT TS ¢ | 3fd: Tl SHUFHR X7, IgT UbT=1 +ft fagrr g | S8t UehT=1 g, 8T StysR Hi g1 | Ut &1 7 d
M @t §, 59 SiUdR B 1 4T T3Y 39 3{YBR & d1d R 8T 8, Sl A & 71 & Hiar fagmH 71 399 7w 9am-
U 1 Mo W Sl ¢ | Tg HUBR g& adl FRIRN T IuoTdl 5 | T I S0 UH1 A g o1 off Tl g

Question 5: AR & R Y e F R GRS BT eTd 91 & 4 | 71 Wb 82 UIS & SMYUR TR FaTsC|

Answer :

g 49 UT6 B <@ B Ue TId § IR aF1 § 9gd SR 81 U T THINI SUYHR B gX B & (ol erd ag-t 2t | I8 Th
ISR &, S P YT T Il 8| S ATl bt JgradT Bt St ¢ b 3 3feR o T o) ¥ Ugem J o<1 9 |
R & 3R BT TTd ST BT o1 Igd 81 e 8| 3P e TS Bl iR & 3R 1 % fearar Jrar g1 g e avt
T R dTd § 3R IHT 4 & AT TR XN {61 ST 81 399 30 A ! $& BIaal Ta! Sy 3! HIaTHD
0T I & |

Question 6: “HATA & Uid 9 A TR 713 &1 U8 ST &1 I’ 39 $U4 & U & fory ugiRy &Y 3R Tdva @
3R T2

Answer :

T HYT T 7Y &1 39 Ul B 3R Yobd a1 711 8, 518 98 fhdl Ire W 3rafiies ia-faeR &ar g1 a8 fasdt
IO Y IUS UY P! §gd oifed 91 &l § 3R 8 A e IR gdIRI 81 o1l ¢ | I8 SFoId 7181 81 8% UY BT SR gl g
T TIN AT d11eT b 98 I el UhR I B H2 | 3 SR 39 Hovd foodm 71 § i 3¢ Uat U & samd
AT ol b |

Question 7: ‘T fAYUT & HIT T YRR 21’ URATS St B 57 T B YR TATHR 59 HYF & Y&l § 30
faar yee Fifomi

Answer :

Ig foaga v ¢ for i faer & yToT 9ed YRR g | IRATS off &1 e sg-arer Ut g1 U o1 8 | 393 IRaTs off A
U YR B H & fUTGa) & v &1 gHew {61 81 59 Ugds UTds a3 3R U9H 81 STdl & | 35 & JAg H 4H
% 11 R AN B 7 BT AR 8l 8T ¢ | T8 ATUR J8d Bal-5d o 8T 31 T T U A BT ol §-1d1 § b I8
A & 39 favg W SEddr et | STResdT It g1t =nfee e g=arg +ft =nfire 8) Sfik &l o1 HiaHTd simed ot
T8 | IR o 39 Ay & TR §1 I8 UH &1 §1d &I & AT-3ITT A & ATy § Hier & 391 ierr § fob v
Feod Tel 8| 99 fUfd 9o 81 98 U1 YReR SRR & Srar 8 fob a7 8374 38 oI §

Question 8: 3T WY HIfere-

(P) TTHA T STE SERT BTAT TG ¢ | I 4gg BTl gielt & | =T EF g1 1LY el
(W) T dTeY 81 2, A 3ia¥ & Giwil | 3’ # gait 39 suify &1 srmait

() ST 98T B, T < S S HUA ged ET R



Answer :

() T ST aTel e e o1 Ieeid &l ¢ | 98 SR P I 39 UHR Rl & b JA- arar 3fR & 9 ¥ SR
ST g | 98 edl ¢ b o SFERT BTaT &, dl IRT 3R BT BT St 31 39 aE IR 3R Pral T & Sifalkad @ foarsg
Y a1 21 3T 37ERT BT § T I g gry 4t e fears T s v U ¥ e €1 8 S 8

(F) Ugdl i Ueh 1g & 11 § | a8 ATl bt HiaR & 3fUdhR gR HRA 3R 31U 37eR UHT god & oY Hedl g1 I8
Hedl ¢ fob AT 3 3faR & 3R J T ST § 3R b1 ! T H HedhdT T6dl ¢ | I8 Hedl ¢ 1o THT §UR 3fa
2RI ] 3(: g A1feT fb FARIRM 3R g% &1 BCIHR M FUT UHTR Bl gol | 98 SAifd SHR Iy & SR g
T 21 31 gH S ST TR

() SXRT i e ! padl § 3t b a8 TTard 4 T ST IHg Y o T YTl 937 98 319 it U1 afde I8 U
JUHR YT T BT -6 BN | T§ AN bl JTH ST ThTRT BT T HIb ST | 3T A8 I8 ATl D! 5 SR U™l
HHTQ |

qgar-faw R
Question 1: ‘T[T HHAMF P forear A seamaf@®ar &1 Wt v TR 9471 fear 21’ 59 favg w® s & uR==t
e

Answer :

31T & T § 3eanfdresdl U8 S &1 WRe AN &9 a1 § | 39 3(d o SATUR & Y § forgm Srar g1 @t & sfta= o
T ST BT YR FAIDHR 38 el off Y67 &1 T B MeAfD YYTER Hed & | SeATetd YFER 37 fort qam &
T S X1 8 | {1 & 91 TR YHESH GRT 3T ST Bt HIGTSH & 1Y W ST 8T |1 TS &1 HRTGIS aTdl Sita
HAw & 77 § 2 T 3| 98 XM ! Iarr 7 ¢ TRea3i T TeRT ddl 8 | e o &1 Sis faan oy, ot iR

o TR T 4 q DI AT-o1 781 ¢ | T ST Bl Dhad SHT 8 T b 1078 TN HR g ¢ | X BIs YHE a9
ST € | GHIS & 31T 51d 39T 36 GadT 8, 1 ST W8 6! 3T-91 Heqy HRal 8| T 34R U T A1 giaTl § IR
TG TRE Bl HedT g3 8, Al SIdl &1 HehTd 3R 4R & STl & U o ol Yhdl ¢ | Tal SMeATdd YPHIR Hgardl
&

Question 2: TS & Hd Ay HT e I §T TP a9 farran|

Answer :

SfayTT it & = o 81 8 | I8 AN & T U1 I &, o Turs &1 ia GRach o &t g1 fufayr fansht ofa,
T a1 97 § TSI e § e U8 THH U W &R b & oie fgme g 81 siufayry § usT g 7™ b8 aR
T UHR & S Hdl 7, S grme FRUf UeT HR 3 & | il 7y o1 iidfkes TR R HHNR §91d1 |1 98 T
I IR fIyT = T 8, o ®is shifac 78! 8Tl 7 39 [deR 3 U4 8, df J6 S &1 99 U1 $9d 81 ¢
HRATT GATS & O 39! SIS Tgd Tedl 1 8 3F-§R BrH H iy Y o fewrs ¢ siwrht R @ Fead gu e
3T ST, Tl 1 IRl FTe &1, GoT & ST &1 o H =1 o1, 3l 3 § gl Hidh1 a1 See BT 41 Sfe 91 g,
o AT Tt ¥ SR 31 3@ 81 URT THTS Bl 351 stufayrt 3 sl i 3l war g1 ¥ 78t ¢ fb stufayra s
YRl TS & e 8 o= g8 o= o oft 9 = § e 81 g URd1g 379 SR el ur % €1 o off fobem
2 Rfdr T €, o shefayr ¥ uS gu €1 I8 R g fob AR fawra &) fa 3ot el 31 dsvreur oiR g & i
IS HRUT DI 3G B gH 3R ¥ YIHid 5d § | YR THS DI S0 Ui IPHiord VDI 1@ B SU&T
SUE 50 X5R B ST A1eT aRAT 89 Uies g g Sd|

Question 3: T7.H.§.3MR. 8. gRT eR=HT wRATS R 9418 7S fher SfQu)



Answer ;U731 3.3R 3. gRT gRYHR URATE R 941 fibed s=il & T gt gift|





